IREARF ! Hx*ll _
Z1IS 327
A o B | REBRE) | g )
SSHETE A A= A Fr=2H FIRR(E | (A/B)*100% e
= = | BERDE | EXLQE | B ) (331) 8
(7T/HR) (7T/HR) (7/HR)
1.000 0.000 1.000 2020/09/24  46.15 108 SIS
2020 433
1.000 0.000 0.000 2020/02/20  46.20 150.38 T -
1.000 0.000 0.000 108%5)5'&&
2019 2019/10/02 4995 9.01 i
3.500 0.000 0.000 58.24 1075
2018 1492 2.008 0.000 2018/09/07  49.15 7.12 207.10 -
2017 4.873 0.127 0.000 2017/09/11 4805 1041 89.77 -
2016 6.000 0.000 0.000 2016/07/13 53.30 11.26 84.99 -
2015 4.000 0.000 3.000 2015/09/21  60.90 6.57 61.19 -

AL BeEMX= (BRESRA-E0SRWERE) *100%
512 BRAERE= [ ((BRRSRA+SREERR ) +EFEEPS) *100%
513 : 108 FEIRERAIRE=ECH -

#E109F10AKLE - RFTERBIREIRAFEBAS8ETT - (FRIREWER ‘Jix%lSLJB)ﬁ



